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FOREWORD ) .o o '
’ . - ‘ . r' a . - : o
To implement an cducational approach successfully, one must match the philoso-
phy of cvaluation with that of instructgon. This is particularly true wién imliyidiwl-
ization is the key element in the educational approach. -'Yet, as impafrtant as it is to
achieve this match, the task is by mo means simplefor the teachey. Hufact, without

- specific. resource materials to help him, he is apt to find the task ovgfwhelming. For

.

dent’s identified deficiencies™

this reason, ISCS has developed a set of individualized evaluation merials as part of
its Individualized Teacher Preparation (FIP) program,  These magerfuls are designed
to assist teachers in their transition to individualized instruction WAl to help them

tailor Mheir assessment of students’ progress to the needs of all their students.

The twe modales concerned with evaluation, Individualizing Objecpive Testing and
/-,‘l'u/uutim,f and ‘Reporting Progress, can be used by .small groups of feachers in in-

“service settings or by individual teachers in a local school environment. Hopefully,

they will domore than give cach teacher an overview of individuadized evaluation.
These FTP modules suggest key strategies for achjeving both subjective and objective
evaluation of cach stadent’s progress. And to make it casier for teachers to put such

strategies into practice, 1SCS has produced the associated booklets entitled Perform-

ance Objectives, Performance Assessment Resources, and Performance Checks, Using
these materials, the teacher can objectively assess the student’s mastery of the proc-
esses, skills, and subject matter of the 1SCS program. And the teacher can obtain,
at the moment when they are needed, specific suggestions for remedying the stu-
A Y

I you are an ISCS teacher, selective use of these materials will guide you in devet-

oping an individualized evaluation program best suited to your own settings and thus

oeae e

further enhance the individualized character of your ISCS program.

: '/l."bﬁ- Co-Directors
' ntermediate Science Curriculum Study
¥ Rm 415, W.H. Johnston Building,

-

-

L

H

+ 415 North Monroe Street . S
e CTallahassee, Vlorida 32301 - R
\ : ' '
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NOTES TO THE_'STUDENT

-

“Now that you haw mmpk ted \L‘Vk‘l"d| dmpurx eXCUTSIONs OF resourees, aml self-
evaluations. you are ready to help your teacher determine how well you are doing,
The performance checks in this hook will provide your teacher with this information.
Then your teacher can help you with things you may .not umlclxtaml and Land\ccp a

record of your Progress.

Read the next section carefullys It explains some important things about the per-
I'ormuncc chccks in ;hi_s bhook, uml it givcs you spccit'ic suggestions for using them,

*Wh‘n Y.ou Nccd 1 0 Know about l’crtmmame Checks ks

ey ——

ERIC

7

CP-01-Rew 3-2A,

. You do pcrform.lmc checks when you are ready.

Per-

fdrmance checks are somewhat like tllc guestions in the sell-

evaluations

th whole class is ready.
Your i

which ones you should do.

of the performance checks.

3. There

- you do them when you are ready. nol when

sacher or both of you decide how many you do.
L . 4 . .

Your teacher or you and your teacher togetlier will decide
You are not ex pulul to do all

are three forms for each performumee chéck. Fvery
performance cheek is written in three forms

A B, and. C.

CThe title of thig booklet tells you whether it is Form AL B, or

i 4 . . s g%
¢y Usually the answers for cach form are ditferent.
_you do a check. you will use only one form. The

forms are always in ditferent booklets,
all the performance ohjectives for the same unit are listed

fogether..

Lated eXceursions or resources.

order.

lL‘\()lll\L‘

3. Fach pcliorm.mcc ¢ hccl\ has its own nupber.

When
A Boand C
Within cach booklet

A unit contains two or three chapters and their re-

oy . . .
I'hese units are i numetical

Fach unit has performance checks based on core
materiak and porformance checks based. on--excursions or

'l'hc nuniber

is in the outside margin of the page and wilt look like tlnx
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Eack performance check “is separated from the other.
There is a line before each performance check and one after.
it Some perdormance checks have several parts, so.do every-

botlom ofvt page, the check is continned onto the next page.

. Sometimes you will need té use equipment. If special
malclmls iare needed., lhcy will bein:boxes labeled wnth ‘the
same number and sometimes the same letter foo as the per-

e

rect choices. I such cases, selecting just one answer is .not '’
enough. o ' o '
¥. Some performance checks have no answers. Occasionally,
you may be asked to do something ‘that is impossible and to
explain your answer. _If so, say that;the task is impossible
and c-xpliin why. ' '

. [Thisisnt the kind of -
' checkbook you write in,

-

' NOT 'WRITE IN THEM. Write your anfwers on other paper.
Give the number and form of the perfofmance check for each
- answer you write. If you are {0 draw a graph, a chart. or a
map, your teacher nmy provide you with grid papcr or & capy
of the chart or map. )
10. Your te: uher or his assistant wnll collect and mark your
checks. And sometimes you must ask him to watch or assist
_ you as you do a check.
. . L1, Sometimes a review procedure will be suggested. [ you
can’t do a performance check. you may be asked to revuyw
a part of the text or a self-evaluation question.” You may
o thed be checked on the same material, so be sure you under-
e T stund  the nmltcn:ul you review, (}ct help if you nced it.

[

4

thing called for between the lings. If there is no line at the

formance check for which you need them. : '/“ A
. 7. Some performance checks have two or more answers. If.
mote than one answer is correct, you must select all the cor-

You share “books of performame Llltt‘k\ and YOU DO
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ludy placed a_ dish-of u)ld water.| : f o Wwii
" dots represent air particlés. . . - ;e 01-Core-1C-
N . . N S i ? .
Diagram a, Dijagram b - " Diagram c.
Y — 4\; . .
. . « * . . .-c N -.0.
R . . .' , "‘ . . 'l-
_ R Y4
..;‘ . ' .‘.“ . ‘
1. Which ot the diagrams above hul \h()\V\ lmw th ar pnlulu will he S
. ond
\ su.mmd in her obserw: ition box! ) Al e
s 2 xplain the reasons tm your thw‘b B A . . . ‘
- . N », N .A'- . -
-~ ’
0
- Belpw llun .llL thiee h.u,s Eatlt-is open at llu bottom .md cache \onl iins air. I'I‘w 'WW
\md“ dots r‘cpwwnl air pe rheles. . - : 01-Core-2C
. Y ) .
. ) . . -~ . . ¢
Diagram 3.  Digfffami b. Diagram c.
F
Y o ¢ .’.. * - . ° ' .
- « % ..e Y .
s | 0’ v . . -
et et s .
) .0"“. e, ~ . '. ' >
’ . . . _'.' . . ._
y .
[ . -
1. Which bag contains the warmest air? T
2 Eaplain your answer on the basis of what the particle ntodel says about
heat and matter particles.
5 - - [
About t¢n minutes betore Ted takes some friends for a ride in his motorboat.he : "WW
dampened the seats. A practical reason for his action would he that 01-Core-3C
a. he wants to make the scats sllppcry so his friends will sit in the bottom of*
the boat where it's safer. ,
b wet seats Will cause fish so he attracted to the motorho: l*\ - )
v, he knows that water will make the seats hotter. whicldmight make his
: fricnds decide not-to go with him.
d. he believes thyt water spread on the seats will cool them and make them
more comfortable tor him and his friends. - ’ : o
. »
)
' - [ >
. { \:"‘l:‘, . L= vt
l‘, | " *‘4\.
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WW

- 01-Core-4C.

.

A
Pt S

| —
o

'SURFACE TEMPERATURE (in °C)

TIME (in minutes)

I _I _ 1_
0 0
aE i ol O X
AL T

-
e Sy 1S
L.V T
I i el
Iy T
L '1 l' 1 i
2 -3

l)an nreasured the surtaw tt.mpcraturc of two different lumps of d(§ Llay that he
placed in sllllll}_..ht Onie lump of cliy was. white; the other was durk £r
their surface tunpcmt;lrcs on thc gr ul shown heélow.

Ay llc plottcd

V

A ' ' .
l. Wlmh gaph (line) aor b, upuwb\lx the slllldu tcmpcr.lturc oI the white

\.Id)’

R \p].un ymn LhOlLC

.

“Sheila had a container of wel ydvcl apd a container of dry gr.ivc

insunlight. She measured the surface temperatures in the two u)nt.umrs }ml nlottcd
these temperatures as shown below. , .

—~+-} -4+ .4 -1

e |
= :
o }
% 30.!
,:_’ ‘
< - )
o«
w20
=
w
-

S 10
<
Ww ol
o
)
7]

0

.

TIME (in minutes)

She pl: ucd both

l. Wlmh of the two graphs (lines), a or b, represents the surface tunpcralun

of the wet gravel?

2. Explain your answer,

.

ERIC
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.
/\rmngu thu lollowmg, events in the order inwhich they occur, , e ' . . _ WW
. The dir above an istand warming faster than the air above the ouan e - 01-Core-6C. -
3. The island and the ocean watming at different rates . . - : ! T
_The sun heating the ocean and the island B N - e
* 4 /\n up- and-down motlon ot .ur .|bove'thc |sland and thL ou..ln ' ' ) ' ) o
on a sunny, wmdluss day at camp, W.tync was given . the assngnmen't of ncasunng T .. WW
“the air tcmpuaturc “above four gllHLant unshaded surtaus Hc checked fhe tollow- : " 01-Core-7C
ing \llH aces. : - R : © 3 ' S '
1o The |lg,hl~(,ol()lkd concrete area’ .lrouml the swnm\mng poul <49 )
h The black asphalt shuttleboard Court: - o v
- Fhé gmss-uovuul bachninton court =~ T\ R . )
_ I The moist. black divt in the vegetable garden \, , ',
Above _whnch surfate would he record the highgst air temperatjre? .
- : . — T = 3 : —
“One day as- Tony was \Illlll{, n] a ticld, he notmd that a g,lklcl vAns Cl ;Im" ove rhmd Y ! - WW -
“The glider; off cotirse, had no motqr and was not towed during lh fe i, nrinujes he " 01Core-8C . _
watched it yet it Kkept rising higher i in the sky. How was it possl ole Iol thc Blider 4 : S
to stay up and even to rise wuthout having any source of powc - o ) |
e . . . . - _ L. N
Buddy .lnd Eric were dnsulssmg, the heating ot air and sull.lus /Bmldy Aug,ucd that ~ - ww - - .
the sun first heats o dark-volored surfate and that ths wan sytface then heats the . 01-Core-9C -
air above it Erie said “that the sun heated the aiy nrst and thén this hot air hL.llCd ' v '_/'-
the surluge below it St.llc a pl.m tor tind out who is correct. N : o .
‘ - " - . : ’_ - - 1 '.’. -\ N ‘ N .v
Go to the wu.nlhcr instrument, th.n your ﬁgm,r has set up/m Ilu ul.umoom M.tkc N - WW |
the u.ulm;.s from tluxulhur mslrun/mt and uwul lhc|}1 ON YOUr answer paper. - 01-Core-10C
— it — ,ﬁ E— — : : = —
. Ilu_.Iollmynllg__\g,{g_:ll)lu~. ru mvglvul in weather Wdthlyl;:, \\/Imh ol'lliq;vm.lhlc ' o ' WW - e
~ - can be controlied? : S Cor ~ .01-Core-11C.
‘ a. Cloud type o R _ ?,
b. Temperature = R ;o : s : :
¢. Wind speed’ ' o -/ _ DL C - .
d. Time ot day you luij the readings f=" ' v
¢. Amount ol precipitation S r . - .,
. T - : . T — e ¢ ’
You were told 1o nmk&* your weather wmh measurements at the same time L.lkh ' wWwW ;
day. - State why it is nmmr{.lm to do’ 50. oy _ - ' 01-Core-12C "!
L .

- . .
. . . .
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ww - . look at tlu tluz,mm pt lhc wcwthcr mstrmmnl hclow to answcr thc thrcc Qlwstlons

01-Core-13C that tollow Tl : i
o . Lo _ . i .i_ i ; .
2 v " N e
g o “t
N L '
, o A) "}-', o .
.. . / I'L':'.-h v
i ) i .El:.’ X
o ) :
B .. :
* ° s Y :
" W
Y [ . o
A : & S — .

TR ¢ _--I_lf'|l|l\j:gﬂ ||||||l|||1r||||||“|||||||
L s RS—TYT = JToTALRAINY g0 15" 60.
O S —120(0 - .

RN S . cle 50.

.3 {. | ' M_OIOO"(.‘%:";,_. o : — 5 0. ’

—eol T /e
200/

o
N
TR
)
L
B
———
-

- _ WIND
' : 1]+ | vELOCITY
M.P.H, o

EXY

. [ 4
[-4 . : []
. N . " l
i . What is lhc wind speed? ' » D L
. 2 What is the wind dllculon . ' .

3 How much preci nlalmn has lhclc been since I‘|IL‘ last lc‘ullng’

a .
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Identify the cloud type shown in each diagrany-below. ] : . - ww
: . - o ' . , 01:Core-14C
L) . - . . ’ v v o ) ) R . X . ) - .
. ~

'I - . . ’ - . ¢ i ¢ - '
x . : < . , . ) . . o ) .
v et Mo MM._T . ~ ’ > |

; - —— _Na::. o R “
* Cloud Type 1. f=remr o= V5 0 :
" v ., © -+ * . - Yoo ° » . -~ . .
» - s P
4
.
. n
. L d
H . .
) ) N
L]
.. .
.4 <
. T ted
- ..
. .
- . . ,
.. !
L] " . 3
Ll . i
. . ¥ o
T
-‘ e
s °
~
A R d
. .
.
.
s
-
‘.
N
»
a
..V
-
’
,
.
. .
.
»
) : A :
-~ L]
) - ’ . . .
. .
. F
L . . - - - .
py

I)r'nw the syanbols that are used to indigate the amounts of cloud coved Iislcq helow, ww
. . " -
I SO ovéreast = - T ' ~ 01-Core-15C

¥’

- - X -

- 2. 25 overcast . : _ )




+ \ ¢
o ! . : ; "‘
oL,
b\ o
- R s . . -
1 *
{ :
- oy - Lf 0--. < .
Ww Symbols Iikc'o for 50% cloud cover, °C for degrees Celsius, ‘dlld = for cquals are
01-Core-17C - often used in science. Why do scientists usce symbols? - )
T ww . (hrls found the depth of snow to be 28 inches in an area in wlmh there had been
01-Core-18C - no (Irltlmg,. How many lmhcs of rainfall is appreximately L(]lllleCllt to a 28-inch
: . _snowfall? co , oo
-WW Your teacher will observe you for this check when he can.
01-Core-19C ) -
. ) .
ww “Your teacher will observe you for this check when he can, T
01-Core-20C s S :
O WW Your teacher willobserve you for this check-when he can:
_+01-Core-21C - o -
. . - ' . ’, ,
- ww . Your teacher will ol)arvc you for this check when he can. | . ]
_ 01-Core-22C . . ’ . |
T ° A‘. . Y J;‘ :
4 N l " . L . . — )
. - WW. - Your teacher will observe you for this check when he can. : '
‘ 01-Core-23C . ' ’ ' '
. . . . ' » .

Aruitoxt provided by Eic:

ERIC

01-Core-16C

l)mw the cloud-cover symbol which represents the amount ot cloud cover on the day
*the Tollowing diagram was drawn,

»

“
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While ut a carnival, Cliff decides to take a ride in an-air-filled balloon; as shown below.

_ While in flight, ‘Cliff notices that the blloon tiom which he is suspended in a basket
is beginning to-descend before the expected end of his ride. What should Cliff look
for in the basket to help him? ' o

’

¥ R - ' Air-filled balloon

.

¢ ”~

a. A valve to release some of the air in the balloon
b. A device to cool the air in the balloon

¢. An ajr pump to blow up the balloon .

d. A butane b’hncr to heat the air in the balloon
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% Suspended basket
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Suppose a balloon has just been filled With hot air.
1. Will this balloon have more lifting force when the air surrounding it is
warm or when it is cold?
2. Explain your answer. ' ' .
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01-Exc 1-1-2C
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Which of the following best names the wind direction?
a. NE wind ‘ -
b. SI: wind” . . '
¢. E'wind- } , ) '

d. NW_win‘d. ‘ ' _ '

¢. Wwind . _ -

Describe a plill\?}(l could use to measure the relationship between the temperature ww
of the air inside 4 hot-air batloon and the lifting force of the balloon. 01-Exc 1-1-3C
In the diagram below. arrows show the way the wind is blowing along the coast. * ww

‘ 01-Exc 2-1-1C
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01-Exc 2-1-2C

Suppose that the pointer on your wind-direction instrument keeps moving from
NE through N to NW and’ h‘.uk to NE again when you try to take a rudnu, Xou
should . .

i€, record W, o _ ' _ *

b. record B, : '

C. luoul all three dnutlons NL. N.and NW,

d. record N, . .

c. wait until the wind direction is studnc hclon; taking a lu(llm~

W

ww
. 01-Exc 2-1-3C
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On a weekend when.no-wind-measuring instrument was available, Marict@® made the
following observations concerning wind speed.  Arrange the observations in.order
of increasing wind speed. List the number of the lowest wind speed fiest. -

[. The branches of the old'oak tree sway. ‘ v LI
i . 2. Ashrub begins to move. A _
' 3. he tlag hangs limp on her ne mhmn s flag pole. - X "o _

. 4. A pile of leaves from the autumn raking begins to-blow around. - ’
ww Whatis the mpaning of the prefix alto whenat is added to the name-of a type of cloud?
01-Exc'2-2:1C : ' '

. _ [ ) A
ww Get pictures 1, 3, and 5 from folder WW-01-Exc 2-2-2, Name the typé of cloud -
01-Exc 2-2-2C shown in cach pulurc.
ww Use the following table to convert the two temperatures listed below it, )
01-Exc 2-3-1C : ' o : . R
. i‘ '
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Aruitoxt provided by Eic:
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Change the wind speeds indjcated below from miles per hOéll"tO kilometers per hour. Ww .
(HINT: There are 1.6 kilometersin 1 mile.) : "01-Exc 2-3-2C
o L2 mphe e
2.62mph -, -
2 .
3 T X - —
When Bill checked the rain gauge, he found that 3.1 inches of rain had fallen last wWw
night.  He knows that there are 2.54 cmiin one inch. How many centimeters of 01-Exc 2-3-3C
rain fell lagt night?” — “ Vo
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Look at the toHowing diagram showing c_u[)cs of air over two different sfirfaces.

) 4

02-Core-1C
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Hot surface . T Cool surface
"y . Which cube of air wil/hu_‘ the hottest? " ,
' 2. Which cube of air will be the coolest? . T
Select the graph below which best shows how air temperature l'lsuully-'clumgcs with : WW..
£ _ ! _
altitude above the carth’s surface. .. . 02-Core-2C
Graph a. e et e f ey - OF@Ph b I
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What causes-air pressure on an object at the Cill‘l’h s surface? . ’ : S WW
) . _ S 02-Core-3C
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ww ‘ Air pressuge is usually measured in terms of the height of a column of mercury.
02-Core-AC What is air pressure that causes it to support a column of mgreury? A _
S ) , - __x
WW : Sclect the graph below which ‘best shows how air pressure Ogually changes with alti- .
02-Core-5C tude above the cartl's surtace.
" . _
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. INCREASING ALTITUDE ) > - INCREASING ALTITUDE
. WwW . John found that-air pressure measured by a barometer on the ldp of u'__high moui-
. 02-Core-6C Lain is-less than air pressure measured at sea level because '
N , a. there are fewer air particlesat higher altitudes. : '
N b, there is less air above the air on the top of the mountain than there is
‘ above the-gir at sea level, '
: © ¢. air particles are moving more slowly at hlg,hu altitudes.
‘ d.. the air is cooler at higherltitudes. RS -
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PAruntext provided by eric - - L

Bob built the baby-tood jar barometer shown below. .

wWwW

. 02-Core-7C ,
' ST .. " Pointer.
' ' _ e . ~. Y d
Baby-food jars -
. - —
’ — v .' 9
l. Suppose Bab togk this barometer in an open cockpit airplane. Would the )
painter move up &M the scale or down on the scale as the plane’s altitude de-’ '
creased during landing?  (Assume that the temperature remained constant.) . ’
2. Explain your answer. ™. : : ' -
. . ' ' A .
Each gr shown below is capped with the end ot a rubber bullogn. Matchi the best ww
. . . . . 4 . . . --l . -
description of the relatiopship between the pressire inside the jar and the pressure

13

outside the jar with cach diagram., Write the number of the diagram and after it the
letter of the matching description, ’ ' ‘ -
Diagran Description

1. Flat ‘ a. Pressure inside equal to pressure outside

. Fla L )
b. Pressure inside less than pressure outside

. : ¢. Pressure outside less than pressure inside

d. None of these

-
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Judy found an old tm can that had been destroyed becauec there was ‘too much pres- Lo

ww
02-Core-9C sure difference between the air inside and the air outslde the can, Her diagram of the
. can is shown below, . ¢ " .
L 4 . . ?
. \]
’A 4
) L] -
. ' _"..
R}
'
. - I. Was the air pressure inside. greater-or less than the air pressure outside?
2. What evidence do you have to support your decisjon?
n v - -
!
ww You made a barometer Ilkc Lhe ond shown bclow Explain why it's a good ulca to
02-Core-10C -attach i straw- to the rubbcr LOVCllll}, of thc baby food j jar barometer
t ’
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-~ Tom built the baby-food jar barometer shown. below and set it up outside. He read - - - WW
tife barometer on a warm afternoon. He Wyrbmeler the next night whewrit -~ - 02-Core-11C -
. . . AN . . : . . . P .
- was goQl outside.  The' reading was thesSame as it had" been the -day betore.- ' '
. B . " H - . M -« o - . ) -
";'_‘ . " - . . 'l . R . . &ale‘_‘ .‘ ' "
' . v
) Pointer_\ :
. . Baby-food jars N
- : .
\. . N
- \ - . -. . - l ' : .
I Had the air pressure oulsn(lc increased. decreased.. or slaycd the same’ _ .
2. Explain the reason tor your answer. : : ' o Ty
i — ; . d ' S - '
Phil and Donny were [fiving an drgument. Phil believed that the moisture which col- ' O WW
Teets on the outside. of a cold glass-of water comes from inside the glass.. He thinks .. 02-Core-12C
that the water seeps through the sides-of the glass. State a way Donny could use to : o ’
- sliow Phil that the water does not come from mside. '
Define the term dew point. S S S o . Rw. .
' : ' , : .02-Core-13C
'S . - g 1
What does the term reflative /mmidit.i"mcun'.’ _ ' ww o
' ' Co o ' . 02-Core-14C
. Ask your teacher ta watch you do this check. Get the sling psychrometer. Measure "L ' WW !
«  therelative humidity in your classroon. You miy use Table 4-20n page 44 of Winds. 02-Core-15C
atid Weather. o o W o
Caleulate the relative humidity on the basis of the following information. CWW
o Temperature = 25°C . , 02-Core-16C "~ -
) : Greatest amount of water vtlpor which can bc held in 1000 ml of air at. : o

25°C = 23 milligrams T
Actual amount ot water vapor'in this 1000 ml of water =13 mnlhz,rams

R
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"Examine the z,raphs bblOW Wlmh one” best |llustratce how the g,rcatcst amount oi‘

02-Core-17C water vapor that air can hold varies.with tcmpcrature - N .
‘-. . . ] ‘e ‘ . .
: . Graph a. " Graph b,
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‘While in lah one day, Pefe hcatcd a‘sample of anr so that ifs temperature: in re,lsed WW

but the amount of water vapor in it rgmained the Same. Sclect fhe graph below that : .' 02-Core-18C
Best-shows how the relative huundny would change wnth lcnwuatunc Y '
. X Y g .
Grapha. ' : ' *  Graphb
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Les measured llu wel- lmlh and dvy- hulh tcmpcmturcs on Ihumlay and found the dif- A . b ‘Ww
ferenve was 07 -t . ‘ / " 02-Core-19C -.
I‘riday. Marlc measured them and found that the difference was 47 ’ ;
I On which of the two days was the relative hunaidity” hu“hu
. Explain ymu answer. ,
- .
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ww For fen days in a row, Olga’s ‘dry-b'ulb r’ea.ding of -her sling 15Sychrométér was un-
02-Core-20C - changed. Yet, each day her wet-bulb reading changed, giving her a greater difference
S ! . . between the two temperdtures.” She made a graph showing both the daily relative

“humidity and the difference between her wet-bulb and dry-bulb temperature readings. -
Select the letter of the graph’ below which best shows the relatlonshtp she found

- Graph a. — Graph b. ] o -
. : aQ A . ~— .
> 007 TR T 0o .
s 80-1- N |- o 80| . u) _
. % 60 h N * g 60 . \
_ 2
&/40“ 5 w 40
_‘é’,_-mh ST . : E 200+ .
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Graph c. R . | Graph d. o T - .
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] N A R I 3 ‘
ww - Aﬁ( your tt.‘i(,hﬁi' to watch you do this check. * Use the sling psychrometer to measure
- 02-Core-21C the dew point of ‘'your: dd%l‘oom You may use Table 4-3 on page 46 of Wmdc and” sJ
- Weather. ' : -
wWW - State why there must be solid. particles in the air in order for clouds to form. -
02-Core-22C B . . oL :
L ) - ! . . N
WwW : Whl(,h of the following could be measures of pressure?
02-Exc 3-1-1C a. 10 pounds per square inch
. o b. 25 newtons per square centimeter . _ \
. ¢. 15 pounds - _ - -
. d. St feet _ - o )
A - e 80 newtons '- I B .
- f. 50 pounds per square foot - oo . o :
B . ) . ) ya
T 7 4
. < » . 4
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A tightrope walker at the circus weighs 480 newtons. When he stands on the rope.
his weight is distributed over 20 square cm af the rope’s sugface. What pressure does
he'exert on the rope under his fect? (Be sure to express your answer in the proper

" . . * ww . -
02-Exc 3-1-2C

units.) N .
B . e . £
A &t - .
A ) . R ’ - i - » .
Which exerts-the greater pressure, the weight of a 150-pound woman exerted on the o - . WW
high heel of her shoe whigh has ap area af 1.5 square inches-or the weight of a7, 02-Exc 3-1-:3C" °~
90-pound ice skater exerted on the blade of the skate whose area’is 2 square inches? : o ‘
T scienge chass. Shim made a mereury barometer from a glass tube 55 inches long. - ww
‘llc made another mereury barometer 75 inches long from tubing of the samealiam- 02-Exc 3-2-1C P
cter.. Then he measured the height of the mercury column in cach tube. The height < .
of the mercury column in the §5-inch tubg was 29 inghes.” Select the, answer below ) 'tf
which best indicates the height of the mercury column_in the 78-inch glass tube
N S 18 T T TOvee - ) ) : 4 N
) A _)‘muhus o PR ) . q_—r L .
b. 75 inches . : { e ' . . . - .
eSS inches . S
: : ° o AN
- (I. ‘() lIl.L'hL‘.\' . i . . 'b-.kk‘k*"‘“‘
¢. 14.5 inches . 76 ) ' ' ’
. tube
X s . .ta : . 55', 29"
' - “tube mercury °
P s S .
. _~Mercury

vl

ook at the diagram below. Waldy used a glass tube with a diameter of 1/8 inchand WW .
a0 height of 40 inghes to makeé a mereury barometer. The mercury golumn in her’ 02-Exc 3-2-2C.
tube 1oday is 29.5 inches high, How high would the mercury column be today ma | S
harometer tube with a diameter of 1/4 ineh and a height of 40 inches? ’

a. 29 inches - e 1/8° 14" k| _

b. 59 inchies . ' q o ﬁq ; e

¢. 4.8 inches : e .

Jd. 30 inches ’ » 'J' ‘

. 29.5 inches 40" 295¢ a0" e

- ) tube . mercury . tube
. i \ , :
: L,

One millibar of pressure is 0.0145 pounds per square inch of pressure. An airpres- « ! T ww

sure of 1016 millibars is required to support a mereary column 30 gncpes high. What
air pressure. in pounds per square inch, is required Lo support a cotimn ol mercury
I8 inches high? N o

[

. di-Exc 3'-2.:30
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. ww ~Gary wct the wuk ol a wetsbulh thermonieter with water. ‘Gordon wet the wick of
. 02-Exc 4-1-1C - another wet-bulb thermometer with alwhol deh IS( Sstudent waved his thcnnolm—-
« terground for 15 seconds. v - . - ‘
B - _ I. Which thermometer will l‘c;,l\tL‘l l«hc Iowcr tcmpcmturc after being wavcd’
T L ' 2 l\phnn your answer. B " N
" . L : - IS o ’ * . - [ .'_“ :
ww S Skeeter and Joe cach had'd dry- Bulb thermometer. Jok plauul his thermometer ona -
© o 02-Exc4-1-2C ) duk while Skeeter waved his amund rapidly for 15 seconds. =, :
IR S~ 0 L Whieh lhcrmg)mctcr wouhl have uglstcwd\hc lowcl femperature?, .-
_) ' . Lo . E
. E \pLun your answg SR o . e
Ly ww ' Skip-and Bab cach had a wet-bully shermonieter. They both wet the wuks of txg
S . . : R . L L * ‘
. 02-Exc 4:1-3C “thermometers with walter. B()h held his still, but 8kip waved hisin the air ton 15 su(‘ﬁ
¢ . L . - . ~
* Lo onds- — . . 2\
PR . w1 Which lh@ﬂamnclu l'L},lSlL‘l‘L‘d the Tower tcni\:qmlurc '
. - : : 20K \plann your answer. vt e .
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ot v . . )
- s t o ’ ATy
o AN aN ? 1
¢ * ¢ . : bl ‘-'\‘
- ‘:J., R . .
- v . ' ¢
- ’ y . . , e
R . ) T o' “ .
. v ¢ | . -
- . ¢ ’ i N ’ » S
. 0 . | A ‘
- . s .
- . o ’ I} .
. N ) s t ' Y M
Y E S p e ’
. ". “ -~ /l‘ A 2 7 ,‘\ P
A % '
° - ! A : e l
\)‘ o . . ' ~ ‘;' ' ¢
CERIC | B ' Ll
om0 o, s . : i t < n
‘ : j - St . « 5
- . " : s ~ L ’ . - N

\

P
W I,



. Duhn;, his science Llcl\\ Glenn set up the ammmtm shown l)clow and formed a mlst ww
' “without any trouble. A few days later.when Meredith tricd to. do.the same activity, 03-Core-1C
she had great difficulty. - In order for her toiget any mist at all'toform, she frst had : '

~to cool the flask with Cold watdr> ‘Why,might Meredith-have had troublé forming o ‘. .
. mist when Glen did not? -+ - e SURTEEE N R
: .-. . . ™ - Lo - v . 3 - , .‘
o _ : e , .
,’ At .. - - R . - : ‘i,) . . .“., { ]
- .. . . a .
: - Air piston A\
W B ' - o ‘o
t ) * * -..- r.
. '_" \ ?
.\' ’ » ‘
- R , d
* % .
. ‘ ¢ &
Bctsy set up the materials shown below? She turncd the llght oit Yor 5§ minutes and ' U WW
then measured the temperature of the air 4 ¢m above ‘the surface of the water and of - 03-Core-2C
, the.air, 4 o above the syrface ()I the dirt. . "y . ' ' S
. . . ] i r— — 3 EN . : ’:, N o
M. . ' o . \ RSN .. Fw . .
\ . . PR ~ e . et " e / B :
o ' J R . _ -
L} .\(‘ -V
v
N N ‘ 3
~
»
- . . ." y
. |s fhe air warmer ahovc the watcr or dhOVL the dirt? =70 - ‘
2. lxplam youranswer, - ; o ‘
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TWwe :\ SR Mrs Jones, a ninth grade science ttq,chcr. placedﬂa p:ece of i ice on a onden block in
03-Core-3C the obscrv‘ltnon box as shown below. Copy: the diagram: onto your. answer, sheet, or .
! .
' 4 T gct‘a oOpy of it from your tcachér.. . Then draw .m'ows to- mdncate the dnrectnon of
motlon of the air throug,hout the entn‘c box. o , ‘
» . . . . ; . .’ : R . ‘
. R vk . N ‘ \.. .
\ '.' ' .'?:w X ol lcq
- D
L Wooden block
T WW T ic diagram below shows a, housc built by thclsca\horc Select thc arrdw that best
03-Core-4C " : mdnwtcs the wind direction 9n'a hot .sunny day . -
\ i ¢ : “

. e ‘
. .
. ) . -
H . T
“oo . i
> et o< NERE N
e ————- " v e . {
. . .
. . b
e o e o L4 . " . 3
. -~ - . -
. - . e

ww ()n the shore of a vcry l,lrgc lake on-a. warm summer day thcrc is g,t"ne‘rdlly a cool ©

03-Core-5G breeze blowing onto the land from over the lake Whu.h statement bclow cxplams
R the reason for this cool brecze? :
" a The cooler air abovesthe take movus m over the land surfaa, LZIUSII]}, thc

' . . \ warmer air over the land to risc. . -
- b, Fhere is less air over the lake than oyer the land., | h
. . ¢ Theair over the lakeds warmer than the air over the Tand. B ”
L "~ .d: The relative™humidity in the air abovc the land is greater than in thc qir -
o abovc ‘the lake. ' ‘ : : .
lhc wavu -on the lake cause the air to be blown over: the land ,
‘ L
. ' . oy
{ : 8 ' |
« . ‘o (Y h
Y ‘ \i ° ) 0 .
," \ R - . . ' \
5 LN | . .
hi . .
. - . [ ." - . . 2 9 | ] . ) . 4"
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{WIND SPEED | WIND, SPEED 03~Qore-6C
~x o «inmph) | SYMBOL ) * VL ¢ .
| Less than | ' /0 ' - m ©
l'3 . ) ﬁ A .
.\-" N ! I‘-A-'4"7 ' . vo l ' ) - L
ol LGP
B RN P ‘ﬁ ‘
e l l()"‘)4 l . w w 3
"5 3| %/O y
Use. llu mlonmuon above to- hclp mtcrprct the wcather map symbol shown next Io
thc arrow. Then apswer the Iour questions about the symbol, Lt .
© L. What is the temperature? Ct .
. .j,_._’What is the air pressure? .
+ 3. What is the wind direction? .
4. Whut is the wind speed?
Use the horizontal and vertical sulcs on thc wcdthcr map shown below to nnxwvﬂhc : C L WW
“twd questions, : ' L Q3-Core-'7C .
' l Which weather statlon rcportc(l the lughcst air prdgsurc? '
! 2. Which weather station rcpqrtcd thc lowest air prcsxurc’ .
',2)3,4,56,6,7,8,°9
cTA I 7 ' o | ¢ e "
. .7',' v ' -1 29.60 . . y ’ » .
S B 8 : 12&80 &
: : f 124 29,60 .
C PN ‘. . . - - [ ..
. P 100/;9;0 _’p?g 70 12({2‘9.10
o d e
. E 90/2‘;40 | 3
- T— T T T 7. T T T
‘ .
Y ) ’ . *l A .’,,,.
> LA : l. . & ’
¢ ' s 30 |
L “.
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' 03-Core-8C .

Use the horizontal dlld vertical SLdlLS on the weather map shown below to dnswu the

ﬁavo questions.

Lo ;o PR
o S,

»

l Whth weather station, rcportcd the highest wmd speed’ E o

2. Which weather station rcpo‘rted the lowest wind spced’

L4
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- 1
B 120210 13d:50
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1332920 -
1 14(5'5940 _150;940 B .’_
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20.60

.
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ww
03-_(;ore-90

o
LS

Use the horu.ontal ahd vcrtual scales on the
two questions.

l Which wcatlwr statlon teported. thc lm,lu,st tcmpcraturc"

wcather map shown below to answer the

ot

2. 'Which weather station rcportcd the loweqt temperature? W
R & N .

11 29

30 4, 5916 17 | 8 1’9"

7

' D 150/2:30" ,\'/O2910

B-'f -0 10(5520 ' ._
29.1 ‘o L
) d:;ao

29.60

B
. ' "‘_
e
1 29.30
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Copy ‘the map of the state of Wyoming shown below. The mapsshows a low pressuee ww
arca near the middle of the state. Use arrows To indicate the directions of llu \vnml : 03:Core-12C
over the state when the IQw |m sswre areda s present., . R
< o
. .- f
/4-\\
g , \
v ‘ 1 Low |
Ny -
\M—/
[
’
[
\ .
r ' (
| ' 32 .

. Many wcalhcr forecasters use isobars m makm;, their lOlL‘LdSlS « Define the term A ww
lsubar 03-Core-10C
C Geta copy of the weather map shown below kmm your teacher. Draw in two isobars . WW
onyour copy of the weather nap., o 03-Core-11CG

L
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WW - Ask your teacher for a copy of the weather map shown below. Use the information
03-Core-13C , on the map to determine in which areas you would expect to fmd overcast ‘ikl¢s
' Shade in thoac overcust areus on your copy of the weqther map. ‘-

dg S - X1
L () 23( ;2966 2060 <, 18
. 22) 29.71 . _ 20,59 | -
o _ IBQ“ . ,
. o o 34(529.585 160?';54_ o 18% 6
B 'a . . IV-' ‘l '[. 295 ' -. R . . ' g g ' . .
I 2%29 72 - : & ,\_ - 16329.65 _ .
. 2965 I . . P
g | . 21l A T | .
: . : 24 0" A e e v )Y e
- N I - | 1—6’929.6‘7_ . X
o : )27, 52963 }2960 o= _' N
. . - . . -‘:.L 23 y:gsg L ) N
AT }2933 12(C)29.72
R " . LT
. . ,.u‘.h $29 63 N LI ‘
i R 23&9\66 | - 3

o 22()/* . S T 29.78
B 2072 . L 15()
Do ' 20 67.})2966 T -_'2:;:)29.72 ‘ ; .

(Y2972 - 14 S -
. . S 29.73 ... - - e
N ) - _ j) - o \'5/02_9.79_ .
, -t h‘ . k4 - “ . ] T_'A-
_ PR .
L WW ~ Examine the diagram of the mountain range shown below. S
4 03-Core-14C" o : Coa S ) N ' ' o
h B ~ '\.'-: ' . R o e .
‘ \ Y ' - et
: : < Prevailing wind .
- - e . . R '
Mountam range - _ I
L. Wlmh SIdL of the mountdm rangc aorb, wn]l ruuvc morc ramfall"
n 2. Explain your answer. J - s
Y ’ ' : ’
aall}
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Aruitoxt provided by Eic:

. State. three of the major calises of- the.uplifting of air.

4

. .. 4
. C u [
Name cach of the weather map symbols below., , ww
o ' ‘ . 03-Core-16C ~ -

*

P * A4 ..

.k.."v B

‘ s -

R i
v o

’\n,/ .

From the list:.below, select the optnon that shows tﬁl most likely dll’LLthl] of move-
, ment or the map of'the low pressure area;

03:Core-17C - .

R a.. Arrow 1 - ORI L / N
I { b NNy
b. Arrow 2 e ‘ L N
s ¢. Atrow 3 . , : | ;
d Arrow-4 © 4, ¥ - -
. All of thc dll‘CLtlon\ ﬂhown are. cqually hlﬁ; 5 ~ . .
; . ) t.\' X
. \ " . “~ N
.L R , !;: .—\_j
' )‘ [ . | ‘ ' .
el SRV y‘.
t “_.
) & \ )‘_-
k ‘$ . "'f‘:_,u-
J .\ o vf" '
- N
" . l . T
1 - R 1 .
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~
’ : T P
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)y, e - 1 ; oo s o --)" o >
. o o i TN . K e : : “ o
N " .- . ) . ) . J’\ re, -
ww The w 1th<,t ny\p below c‘.hows a low prc,ssurc AT, approachmg Laa Vogas
l’ ’ . ’

. 03-Core18C ¢

. “ A . .
PR . . B . o

b | Iy ] ‘ N . -r., .
- { . \ ]
FRTT A . . ' s
. \
A N . ' , ) B ‘ ¢
. . N J \
‘l- - -. B ’ N
. l.’ E A
" - e
. Y. ' v b R
\ ‘o §
‘ . KN a
X _ R
\.1"\./4_'.‘ l'cu . . * . "-f.:“
s
\ 4 . v . .
. B C 3 '\ '.
Y . f Y - ) _‘ f ' . . . x
~Ty . , . Co
“List the kttus of all thc chiinges in the 1thcr you wmlld cxpat as thc low prcv SRR
. tu___" w0
R _. sure @¥ea approaches.. N . : ‘ A o
. R 4 . [ . -
“a.- The barometrie pressure wnll drop SR o S
. e ’ &b The sky will cldud ever. s w e o
oo g _C The wind will shift unhl it is. hlowmg Ir,om Lhe norlh T ' _
. _d The temperaturewill diop. S A SERT
. - ¢ The wmd wull shift untikit,is blowing tlom thc lsOUthWL’\l S
4 oy - Lt : gy ~ \ i
[y ol. v U f‘,'_ ’ ’ o
M \ ’ N RS
' - v ; ! 1] ~ ;
- . N P i
- * y \ L ) <
‘ “ | | ’
ke . / N " . . ¥
T e o
A
. . - ! ';- v a
/fﬁ . % s, . ¢ ‘*7
de 3 1 o . .
‘/ N s v o » v a .
,i‘ - }:."'_‘,’\ * ‘w. ! ' L4 , + -
5 v ~ B
- . . . . ! !‘ 5 ) . ‘ ; .
) ‘o [} \ . . ) _.hr . "
El{l‘fc /" e . R .v“)" \ l . . ,
S o i . s X :
“ : . . B ..\- N . ) ) '



o . 5 A o o . o "-."._',.‘._‘ AT :
. T . Lo ' l . : . e, Lares .
. <, L \‘ . ;),_'; 't a -‘"\"J.‘ SRR ) ) . ,’) ‘.‘.
J i o o . . P
The .weathcr map below shows a a gold tront dpp‘l‘Odthlllg,}_,DellVLr Cplora-doJ T o WW
. . ‘ 03-Core-19C
. . ,-(‘ - - \ .
. . i " 2 ~
. : « N . . . .
5 * 4 T !
s . o L
¢ +
._;l‘"b -~ » A ¥ .
. , | _ _ .
¢ * " . . - * t '
" ~ N K Denver . e ‘ -
2 "“ O s ) v
- ' ) .‘ '
- s .
s Ivp .- ¢ . \
\ ' v . . .. u‘\"*' - ’ . "
- S ' . ) é# ' o
ey A - [ . St $ .
Lo . S o L " -
* Select thc weather changp you: woul(l cxpcct\to uuuc A8 thc cold lmnt approachc
cand | passcs through. . .. .- . . u e "
. As the k_Old front appro‘achcs 'thc sky will. L|Olld ovu prlmanly with cu-
mulus and wmulommbus clouds. - . P . X
, b, fhe tunpcraturc will drop as thetvold front pas%s thgoubh : '
¢, The wind will shlft so it bIOWs lrom the southwut as thc cold lront passcs h X
» through. R A A : . = - T e -
B _ d The barometer will fall as the u)ld front approaches, and then rlsc as the' ™ o " -
cold front passes through v S o
¢. There will be many cirrus clouds in the sKy. - i
x_.:' N L i N I v I
M b '- ‘
[8
) * N v 'u.. Tt "
e ..
'\" ,n'»:'f - o v,
. [ N t 2 - v
. “1 _t ¢ ‘."__; -1 }"-. N Y
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List the letters of all thc weathu changw you would cxpcct as thc warm frentF
.. .approaches’and passes through, =~ - v S -
. PR ' 4. The temperature will rise as the WArm front p‘;sses through T
' ,3:7‘1‘ "B The baromctm pressure w:ll fall ag-the wdrm front approaches and passcs
ST e through, T -
: ¢. Thete will be a south wmd as the warm front approduhes T
e ~d. As the warm front dpproachcs. thc sky will cloud over with. cumulus dnd
uunulommbus clouds. T
) s The barometric prc«surc will rise us the warm front dpproauhcs and pdssw S
- through T Lo . . e
T . e o o A T
” ) i v o !
‘ - ! -
X, : - s : ‘.
Sy 5
) N ® T
4 N o " ~
' ’ ’ Co e N ¢
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3 o, . X .
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The'arrows in the diagrams below rcprcscnt the dlrcqtlons of i .m movuncnt

7

knows that the air: lunpc rature “decreases al an avcragc'mlc of about-1.0°C" per

l Which diagram best represents a warm front?. - . A i _ "03-Core-21C
2. Which diagram best represents a cold front? - 0 > e T 8 B
%
a o b. y c D
Warm air Cold air Cold air ~
. ' @
old air / /
Cold a : Warm aic
. A7 3
" -y ¥
d B -0, "' ’ N f.
- Warm air. e S
. Warm air . |
. [ 4
Ll A
¢ .
4 ¥ - ) -\ 1 .
. _ i
Andrea mesdsureds the air’ tcmmrulum dt the earth’s surface. ll was ’8 | ( She ww-

* 03-Exc 511C _

Use.sMason’s infofmation to calCulfite the hciglﬂ of the élol;ld,_'b_()l N

v s -3, . VAR |

wW-

FATSTA
i

100 m. Calculate the airdemperatye at an allltud"e ot 780 m aboye! thu varth’s. sur— PML e
face at the time Andrea look hcr mcaf;uruncnt . R e *
— . . - AwE i — — : . -~ -
Cindy méusured the dew poing at the edpth’s surface: 1tis 14.5°C. She kndws that - S - WW'
the dew point of air decreases al givayerge tate. ol 1.0°C per 550 m. “Balculate the- .. 1503_;£xc, 5__-1-20 "
dew point at 1280 m ahovc the carth’s surfyce when Cindy took hu musurcmcnt '. R
s == .
Mdson made the Iollowmg measuréments on Jul S WW _
Temperature, using dry-hulb thermometer e :03-Exc §-1-3C”
lcmpc ature, using wet-bulb thermometeér ol o ' '
He used these measurements 1o find that the rekitive numdlly was ‘8o and, the dew .
point was 1 1°C.. The height of the 1.|0ll(| bottoms can be oblamcd usmg tl)c follow— A
ing formula: =~ _ SR i Law T o
i o Height of cloud bottom in meters = 12 (J Tyew noin ) " .
§ [ .



X " :'.‘57% ..Z’ L : Y ' . .
> WW“ RER "'._;-;- Auhw wants to mcaqurg the speed ot doud& by usmg a nephosaope Which of the
03.Exc 5- 2 1C ~lothWm% incasyrements must he make? ~ 7 0 Ter g L .
.."_ ’;,_,., TR ,’ »,,_,’_‘",".;Z"\,f;— 74! The height of a cloud o A
R ” ' fu‘j‘f b /The height of his cye above the ncphoswpe T,
S e T A L. Theradius of the nephoscope cirele '
' T § IR d. The time required for thc cloud to tmchrom the cehter to the cdg,u oI the
. S : o _nephoscope Gircle - ¢ g : H
- ST ' . All of the measurements listed in a, b, ¢, and.d ) : S
. o ' .-Only the'measurements listed ina, byand d N , .
SWW ' Stwl'wun_ts' to use the following formulzis_ to calgulate the speed of the clouds. '
03-Exc 5-22C - o HXd S L :
’ D= and o S= o .o
AP - 'She has madc the tollowmg measurements . S - o \
. o d (radius of ncphosuopc circle) = 0.03 meteis . R
- . b (height of eye above nephoscope) = 0.4 meters '
; © H (estimated:height of cloud),= 1400 meters. . _
ST . . t (time for cloud to move from wntcr to edge of ncphosuopu N
.crele)= 8 scuonds :
- -0 Usc Sue’s mcasurcmwts to degermine the: spwd (S) of the LlOleS
WwW.. LA ta;tory has just mstallcd i its SlllOkC'sldeS the new device shown below. "What

03Exc711C L effect will these. large, clcutrwdily Lhdrgcd muks)mvc on thg‘ smokc partulcs’ Select
IR ' _ the letter of thc best poss[blc answer from the list bclow ' SR o

Ny v
~
.

Vereltlt T

RN
.

.“Electrically charged racks

v ' 8 - SmokKestack ¥
B Pl T D - y .
¢ ~ . D ’ : " -f‘ ° -
| R = P Lo
- 3 .: [ I AN A
- h".. Smoke partlc[es y m
. - e " a. Keep rain from enfering the'stack .
. b. Stop all'gases froin going up the stack L
. ¢. Get the smoke out of the stack faster _ _
. d. Remove the-color from the smoke™. = 7 LT e
. ' ¢. Cause sm.nll particles to. Llump togcthor . ’
L . - : N, .'\L )
) - o ) . 7
< ..'" et ) l
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One technigie used By scientists lo make rain when lh y want i is to drop milljons. ww
~of tiny crystals of dry ice into clouds from an auplanc Dry.ice is very cold, about 03-Exc 7-1-2C
“. 73\ C.. How is it passible-to cause rain by dropping dry ice into a cloud? . - .'. S _ )
Why do-cumulus clouds generally not last long but fade away quickly? _ = WW
. ' ' ' . : 03-Exc 7-2-1C,
Why do hailstones usually consist of conventric kiyers of ice as shiown below? . Ww
. .o ° ) o R : 03-Exc 7-2-2C
. al
Y ' . .
- . .-(-. . . .~ . 3 i N
o —= Concentric layers of ice
—
- * B o
. kd {
‘ ) -
. . / M
v . .
The table below shows the measurements thit Hernando made during the last four * WW
days. Opén Winds and Weather to page 105, ‘ "+ 03-Exc 7 3-1C
¥ - - : —. - — - - - e e g A cmmm e e g = = S L e e e g e e by -._.- ..__l PP A
PATE | TIME |1 MI’ w_mnﬂ WIND | CLOUD ryer: [cLoun | pRECIPL | BAR. REL. | DIwW
' * ] tin °CHl IR, SPEED ~|COVER TATION ,I’R.I-'_$S. HUI\‘A. I’OINI
7 (in m;{_ﬂ - _ e 2 o inches) | Gaeinchesd Ginfo) (m .( ) .
T ;--‘rp-:':.—-::--:.::-:,:’ ES S E -t B ——z'—- _:--.'.-:~. STT i ST oo Il :,...,,_._;_. FTTID SIS AERS TR TR TR ':.':::f.. “-—: :—:—-—' .‘—,—
LA 8 A0:00 [ 18 Sw 25 3 cumulus O - 20 802 36 ] )
- 9 sl 20 |s 19-24 | stratus, -@ .| - X0 |27 7
L - : - . .
10 9:55 |, 25 | S~ 1924 | stratus - L Q) 29,60 20 .o
AL Lo | os2s s 812 | clear R 29.00) 0 o
_— . [ .‘__-.._.',_:A__--_--_...-.“._ _Q—A—-. [ S )'*—-HL-_—-—-—-—-—;-.T‘-_‘
Based on llcmand() s data and thlc 2 on page l(ﬁ. .mswcr the Iollowmg. (]llL‘\llOn\ . o
to tell what chamzes will probably oceur, in the next 24-hours, N '
. 12 Will the temperature increase. decrease. or stay constant? '
P2 Wl“ the relative humidity inereise, degrcase, or stay umslant’ S .
3. Will the sky become cloudier, clearer, orstay the s amc , BT
) 4. Will there g .my Llouds’ L 50, name the type. _ . e
T ) S. Will there b no. xonw.,m hcavy precipitatiog? : . : -
..0 Wlll tlurc beno wmd. a hghl breezd. dra strong wind? AP,
A .{2 . . - _ -~ . ./” . N . o :
! ‘- o [ A ' PR ¢
LN
\ ’ ) D O *
. _ ¢ ~ :
(1 : P ! ~
. B * ~ " K v,‘."/
. ., I Ny t o o
- B A g 4 0 . AN . - F
” ; ’ . G , 4
14 . Ao ' ( ¥ .' . , v
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T ﬁ*f\?—ﬁﬁif’ toe .' '-:(;_*.** . ) ..\“f

‘ : St
/\Ilncd Wegener (valopcd an explanation for the pncscnl .mpc.nr.mw of the con- ' cP
tinents on the carth. State his explanation in your own\yfoﬁlx " , . - 01Core-1C
Scientists tooked at ;:.cologu evidence to decide whether the theory of Lpnlmcntal - cp
drift was reasonable. List things that scientists would cite as evidence, - 01-Core-2C.
The & U 1 below are lrom the ** Preliminary l)ctcrmmatl()n of Epicenters” table. | or ' CcP
L.lkh of the four carthquakes, use the map below to determine its-location. Write 01-Core-3C

the number of the carthquake and after it the number of the box in which the carth- »
quake is lacated. Nojge that the Dhoxys on the map are numbered in order from top to
bottom. (For example, hm. 8o.. though unnumbered, is the box directly lulow

" box 85.)

.

VARTHOUAKL | ORIGIN TIME | GEOGRAPIIC | DEPTIL ]
' ’ (GMT) | COORDINATES | (inkm)
| 'll_l_' Min | Sec | Lat  |" Long
C1 foslaese2 | 3287 1038k as /l-
v 3 Jes|a0 127 | staN| o, owl 0 ;oo
|x7s | Tosat| so0 -
oas|omre] 3
e ot 1]

-45f’N

Ay —130° N

';‘3 ”‘05 116 BN
N St

I

/_\J\ : -.15:"?'5'

J0 20 -30 40 50 - {60 .|70 80 90 100 110 120 60°S .
160° W 120" W 90‘(w 60°W 30°W. .0°  30°E 60°E. 90°E 120°E 150°E 180°E .
: LY b " , .

i
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. CP : .The diagrams below show the motions of four plates., '
01-Core-4C ' Vo o A o K
¢ Co . . . . " ' R : @ . - o é
. Diagram A : - Diagram B I LT
T \
- s °
0 . Plate J _. "Plate K 3 ‘

"8

1. Which of the following describe the line between the plates in Diagtam A?
a. It is the source of deep earthquakes.
b. It is the source of shallow carthquakes.
c. It is the sourc¢ of no catthquakes. |
d. It is probably in the middle of an ocean. - R
¢. It is probably ncar the edge of a continent. ' :
f. The line is between colliding plates.

. g. T'he line is between separating plates. -

\ 2. Which of the following describe the line between the plates in l)mgram B? -

’ a. Fis the source of deep carthquakes. R
. v b. It is the source of shallow carthquakes. T L e

ot . ‘ ¢. It is the sourcé of no earthquakes.

d. It is probably in the middle of an ocean. o .

. [t is probably near the edge of a continent. .

The line is between colliding plates. -

) g. The line,is between separating plates. v

¥
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1. Is there any evidence in ‘the diagram that geologi¢ change has occurred?
) =0 2. It s0, list the processes that caused the change. i
- . I (
) + . bod - \ - \k
Suppose that a 19th century geologist in the -Southern Hemispliere found on at least . CP
three different continents deposits of rock which -were layered like that shown in . 01-Core-6C -
.. the diagram below. Each rock sequence included a layer which contained the same ~eX
- kind of fgssil plant. ‘Assumne you are a geologist and want to tind an explanation for A
, this. List two questions whose answers would help you get ‘more information.
: Mixture of _ \
= Sandstone and
% . ¢ Gy ¢ @ ¢ wmww ¢ emue ¢ emms shale
— Gy ¢ Gmms ¢ WD o+ et ¢ quma) . . :
. ’ s o pow e —— w— P~ Shal.e With 3 . \ y
: e == ===t == =g~ fossil plants | ,
2 # .
< Tillite
o ' N . . .\
. . X
. ' EEEEEET T == -Shale | '
\ x, i S )
L] r o
‘ - 1Y
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g el - .

cP - . Your teacher will observe you for this check when he can. _ ¢
01-Core-7C - : : . . ) -
cP Your teacher will observe you for this check when he can. .
01-Core-8C - ' ' ;

S . . L n t.
cp . Your teacher will observe you for this check when he can.,
01-Core-9C . ' ’ ' .

Y . B ’ . ) ' . . .
- T T T e J

CcP . Your teacher will observe you for this check when he can., 4 o

01-Core-10C

cP Your teacher will observe you for this check when he can.
01-Core-11C . »
cp . What evidence do geologists offer from the lce Age to support their theory of con-
01-Res 1-1C * tinental drift? ' ;
- . , . . .
B ] - - : o~ ¥
CcpP Study the three pairs of rock sequences below. ]
01-Res 2-1C [. Select the pair of rock sequences which are evidence that their present
. » . locations. now separated by “an ocean, were once part of the same landmass.
o 2. Explain why they indicate this: ¢ '
Pairc
M \-s\.‘
. P22
S INA)
N SN EY
. AN
e e o X 1\ Y
. W - 1\//\’|
KI.Y ' . \!'\\\'/‘
- . \/|/|\",|
E====3|Shalg. {kvRAM
ETEmS T, N \I\
xTrxx ,\ ' s
: _ VAl
Yy Shale with .:‘\ 4([,’\
{aasa Y . 7\
o | plant fossil SN
' ' \,\/\","l i
A
N MEALE L)
Tillite A
A
| \l‘-\ AN !
Sandstone PARANG
(‘):/{ PA)
54| Limestone
——— ¢ ' N ' i
ST N ofe 1 v .
;\‘3/{,\,& Crystalline - ,
=52 rock -l .. , .
T v : ,
\ .
L ‘ - ,
]
s ‘ ‘ .
1 /‘
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It is uscful to consider a baked apple as a model to ciplui_n mountain building on
“the carth.  In what way is a baked apple similar to the earth so that it can explain
mountiain building? o '

3 . !

CcP
01-Res 3-1C°

I — 0

The diggram. below shows the magnétic fiekd recorded in the rocks in an occan
basin.  Thee shaded arcas represent rocks on the sea floor that record the cartlt’s
magnetic ficld as it is today. The white arcas indicate rocks with a reversed magnetic
ficld: The widge axis is shown at the center of the diagram,

Below are four statements.  Some ol them, art@bsceivations, and some are not.

“List the letter of cach statement Which is ot directly obscrvable in the diagram.
, y

Ridge axis . ’
a. The vocks farther from the ridge are older than those-near it.
b. The ridge axis appears to bisect the magnetic lines. : .
¢. The sea floor is spreading away trom the ridge.
d, Four reversals are recorded in the rocks showniin the diagram.

T >

: cp
01-Res 4-1C




Get g meterstick, and put several books under one end of it to make the distance be-
tweon the table and the stick’ 20 cm at the high end. Keep the other end of the
meterstick steady with a book, asshown in the diagram below. Get a clmometer

and measure the dip angle of the meterstick.

Ay

< CP"_
02-Core-1C;

> . |
’lf~ N\ete"stt\c\( #
S . 26cm o o
.~’,- . \ - . . w: * ;)_\._ @0 ,'&w_l % ‘*\ \.‘:.‘;
, Books - '
; [§
] |_-Table
Y / ' *
1 -
4
. N «
‘ v Y
The five statements listed below refer to cutout block CP-02-Core-2. Get the block - cP .
from your teacher. The key for the block is given below. 02-Core-2C
. . ) - - L 3
KEY
, Rock
‘ A} .
sandstone ,
’ shale
" conglomerate /
' . shale-sandstone | ‘
On-your answer sheet, write the number of cach statement, and after it indicate
' whether it is an observation or an jnterpretation. Then, after each statement you
labeled as an interpretation, state the observation on which that interpretation is
. based. « \\ : ~
I. The conglomerate Jayers werg lormed durmg a -time when conditions
changed. : \ "
"2 There are four-rock layers in the section. .
3. The sandstone layer is the youngesy. - " :
4. The rocks were uplifted and tilted afger formatjon, N
. 5. The rocks are tilted approxnm.ntcly 3p°. -
N o
, _
\ “4 , \

t

bl



¢ . . 3
. ' 2’
-CP Get rock H from the CP Rock Check Kit and a hand lens.
02-Core-3C -+ L. Is the texture of this rock interlocking or nonmterlockmg’ v
' ' 2. Give your reasoti fOr your answer. - , v
. T : o :
- o g e 5 X -, "( iy
CcP ' Get rack 1 from the CP Rock Check Kit and a hand lens, - '
. 02-Care-4C B I. Docs the rock, have interfocking or noninterlocking texturo? - . e e
el o b % S R A AN s i -.,Mx& the rwsun Ior your answer, - i ‘
"" Sl B abyed L baadgls '*"""‘ ety ﬁﬂfwnt _}»L JESEIRURRN . mk.._u N )
SIS TSR TIRT R
P TR el R fock C Troitthic CP*Rock Check Kit and a hand lens/nil asteel nail. ()pcn your LT
02-Cor9-50 ’ « textbook to Table 1 on page 47. . ,
I. Is this sumple a metamorphic, xccllmcntar or u..ncops rock? _ _
2. State the evidence for your uhonu ’.. \\ o )

: 1‘ aw .
cP ‘ Which ol the ‘characteristics below ullt‘ nnportam in dcxurnbnn}\ a rock’ss texture? '
02-Core-6C a. Grain size : oo

b. Cement visible ; : Ay
P Random grains | \
d. Interlocking grains ' ) ) . :
_¢. None of these . \
. f. All of these
cp ‘ Get rock M from the CP Rock Check Kit. 1t is an igneous l'()Lk Study il
02-Core-7C . : 1. What conditions produwd the rock you have? \
' ' 2. Where in or on the carth’s crust du sugh conditions occur? , |
. % S
i : L 1 X
cp ' ' Sclect the letter of the mountam type wlmh Ims thc Lharadcnstm of a laulted
'02-Core-8C ~ mountain. : _ :
¢ t -_ ys 'y fl w”'—“ B “ g . ) K . .
- MOUNTAIN [ LOC /_\IION;I CHIEF ROCK TYPE SIlAl’b\\
i TYPL, e - . ] .
‘ a. ' carthquake. and surface-cooled igneous round, cdnc-; .
ZCYSCT Z0NCs, ' ) ¢ | shaped
b.’ isolated on plains | deep-cooled igneous or round. dome-
| * metamorphic , shaped B
’ . 4 * ~ : . : ‘ . . ay
. o ‘ C. vgllc y ‘and rulgc marine sediments, may _groups of long,
R ' o regions , be metamorphic symmctr‘icul,
) . Sk : ‘ Co : .| parallel slopes
. . i N P - t L
' ﬂ ' = d. | scarprand basin marine sediments, may long and wedge-
' ‘ regions be metamorphic shaped
) -
. . \
- " '.Q
t' ’ ! :
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Gct rouk samplcs E, H, J,and L from the CP Rock Cha@k Kit. Below is a list pf o R v
‘environments in which the samples may-have formed,; Write the letter of the rock - 02-Core-9C
sample after the number of the cnwronment in wlm,h ou think |t was tonmd : '
1. In an ocean basin : e . ~ : )
P -2. In a_pool of molten rock dccp within the crust : ’ g
> 3. In solid rock of the crust, under pressure e : .
4. From the flow of volcanic material
‘Look at thu photobmph of Dcdth Vallcy in Fu,urc 5, =-7 on’ pagc~%é?" WA et L v o - QP
l Identify the diagram below which shows the way Death. Vallcy was 1ormcd . 02 Cora-QOC
2. Give two picces of evidence t‘()r your choice.
— AN
a.( N b. N
v"";\'j <CLxv A [a “‘""
'/III/I//I/I//I/I/I////// :
¢
C.
’ * «
-
' - Iow
1-‘ ~ \_"
. ol _— 49 :
\ ) ‘ v

&
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cpP T Write the letter of the mountain typé which has the characteristics of an erosional ,
- 02-Core-11C mountain. Erosional mountains form when softer surrounding materials erode away.
’ ‘ b v - : ; - " ’ . .
MOUNTAIN | LOCATION CHiEF ROCK TYPE SHAPE
- S a carthquake ui)(l -1 surface-cooled igne'ohs - round, cone-
: geyser Zones .. L, : shaped.
4 R ,:..'._tz e T 5
, N y b. isolated on pfa»ins deep-cooled igneous round, dor_f\c-A _
- T . T |of metamorphic - | shaped T
\ C. . valley and ridge. | marine sediments, may | . groups of long,
regions -, be metamorphic- symmetric,
i ‘ _ parallel slopes
d. | scarp and basin marine scdinﬁ“‘ctiis, may long and wedge-
. regions be metamorphic shaped
cP " Get rock C from the €P Rock Check Kit. The diagram below shows a cross section
02-Core-12C , of a mountain. [f a mountain has the shape shown below and is made entirely of

the same rock as your sample. describe how the mountain was formed.

T

f - —

ce ' In the table below. four types of mountains are described. Write the letter of the
02-Core-13C mountain type which has the characteristics of folded mountains. ‘
MO_UN'I'AIN LOCATION - CHIEF ROCK TYPE SHAPE
< | TYPE ¢ :
. A i carthquake and surface-cqoled igneous round, cone-
4 ’ geyserzones | shaped
\ ‘ . ‘ b. isolated on plains | deep-cooled igneous found, ‘dome-
o ’ . or metamorphic shaped
C. scarp and basin marine scdimeénts, may long and >
regions be metamorphic wedge-shaped
d. valley and ridge marine sediments, may” groups of long, *
. regions be metamorphic | symmetric,
\ . / . ' ~parallel slopes
\ 4 lf'
Y - " . .
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Tosae [

_-Write the letter of the mountain type which has the characteristics of an old volcanic - ScP
crater. ' . . ' . o 02-Core-14C -
MOUNTAIN | LOCATION . | CHIEFROCK TYPE | SHAPE, - |
TYPE B o o o ‘ :
: ' ,' a.  tsolated on plairﬁs dccp-cqoied igneous round, dome- o
’ . or metamorphic | shaped » .
) b, | scarp and basin:” ° m)r-i-ne sediments, may" i Jong and -
ol fcgiq"i\é" Commel be 'meta'r'h(‘)fph_i‘c' 1 wedge-shaped- o e
e valley and ridge | marine sediments, may : groups of long, ‘
'( oot regions _ - be metamotphic symmetric,
A - : . parallel slopes
d.* carthquake and | surface-cooléd igneous round, cone-
geyser zones . . shaped .

Lis—i the letters of any erosional features listed below which _weré formed by glacial ~ o | cP -
action. T s - 02-Core-15C
o a. Hanging valleys S

b. Undercutting -
¢. Pothole .
d. Rock grooves
! ¢. Horn
| _ _ ;
" Examine the diagram below. Four features have been indicated by numbers. Which . cp
of these features do you think are depositional and which erosional? 02-Core-16C
. N ‘ . o




02-Res 7-2C

_'CP ~ Get cutout block ‘CP-02-Core-~17 from your teacher. "Wh_at.caused ‘the scdikne_ntér}x\
02- Core-17C layers to deform as shown in ¢he cutout block? =~ - o
B - T - .- - _ .- " r " - - .
. CP ’ - “Get rock samples D, 1,-and M fromr the CP.Rock Check Kit. Also get a hand lens, a -
~"02-Res 5-1G. ~ o steel nail; and dilute HCE: - Open- y0ur te’xtbook to-the rock test key on pages-45 -
' ' through 47." Write the lcttcr ol eauh sample‘ and statc if it ls lgncous. ,sedlmcntary
or lmtmnorplm ' S ) : - -
CP . . The four test tubes shown below contain the same. substanw which was cooled from -
02 Res 6 1c’ a llquld to a solid at different rates. On your answcr sheet list the ‘numbers of the -
, test tubes in the order of the rate ffom slowest to ld_StLSt_ at which the substan_gcs in
‘cach was cooled. - : . . S K
.y-'
o ‘
. age -
HPe &y
0V
" 4 . ",'
¢ 32
N .
’0“'
s
3O ’
N5y .
3
AN -
. 02,0
)
) g
. \\ (SJ
Tube 1 Tube 2
s i . ' :“ - ‘ V .
. CP Get a hand lens and, from the CP. Rock Check Kit‘a samples A, G, and L. These are. '
02-Res 6-2C +_three igneous rocks. Each one cooled and solidified from & molten material. Observe:
2ach IOLk carefully with the hand lens. :
Yo L Using the letter on cach, list the rocks in the order that you ‘think- the
o LOOIQ(I from fastest cooling to slowest cooling, 7
e 2. How did you decide the order? v - .
o : \ ' —
. ,'/.'- :‘
/ CP . l*xamm\\ the photogmph that your tLaLhcn has labeled (‘l’ 02- Ru; 7- I( "How was .
02-Res 7-1C the layer N\mt the arrow points to formed? .
.,Cl"" Lionel put a small amount “of dnlutu H(l onto some I'OLk\ he had collected. [lnlflu:l' .
diately bubbles appearcd on the rocks.

I. Name the rock that reaéts with HCl in this way
2. What are the rocks made of?
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. Elaine tound a rock near her home, She observed that it was composed of one kind¢ = - -~ CP
of material, and the grains were nonmtulmknn, She concluded it.-was sedimentary. - 02-Res 8-1C

Usmg, hu “Mmcral Classification Chart,” she determined that the. smg,lc visible com-
ponent was feldspar.  She then applied ll(l o the rock, and it began to biibble.
Since feldspar docs not. react, with ll(l ‘what would causc the H(l to bubble?

v

Get cups CP-02-Res 8-2a and CP-02-Res 8-2b.. Examine the sand in both cups. v cP
1. What dltlcrcnw do you notice in these two s.lmplcs.’ . - 02-Res 8-2C
2 prlam ‘how this difference could occur in naturu’ ' ' ’ '

From the CP Rock Check Kit take samples K and J. Also get a haml Iuls and some CP

dilute HCI. ’ S : ] 02-Res 9-1C
1. Determine whether cach is a sandstone., a slmlc or'a Ilmcstonc ) . .

. 2. Explain how you know: e ‘ " : R

Get rock samples E, . and N from the CP Rock Cheek Kit. The map below shows S cP

where 1SCS shale and metamorphic rocks are found. Assume-that the intensity of 02-Res 10-1C

metamorphism is greatest in the southeast part of the map.

COKEY | ‘

B I T e B e

D mchnnorphnc

E]iscsshale | .
. ¥
7
<
v
R ) g P
. -~ ’ »
i .
B ) “ . t ™
I In whych zohies would you most likely find cach of the three Tock, samples
you have been given”., . . : ST
T 2 deplain your answer. ' . _ N
« < X - W
[V - - AN - i % t
At » .«
» » [ -
. [} #
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. o ' ) \, . ; ‘.;."{ . . __.L ot ‘X; . ‘{ »/Té ) "
cp. . Suppose' you have two dltfercnt mmerals to’ oompare’k How could you determme :
02-Res 11-1C (define) thelr rcl.mve hardness?: - » . ) W
- v : - ——ti—— — =
cPp Get minerals i, m, and n from the CP Mineral Gleck Kit. Wnte the letter of each"
02-Res 11-2C mineral, and afteri)gdte the kind of luster - mietallic or nonmctalhc - that it haq
cP 'Get min¢ral samplcs m g, and h from the CP Mmeral Chcuk l(lt Examine 'tllelfn :
-02-Res 11-3C carctully _— . : : : '
' 1. Write the letter of each mmeral sample that shows L]CdVdgC
v 2. Explain how you know. . N
cP - ' P Get minerils j, i, and from the CP Mineral Check Kit and a glass plate and a knife.
- 02-Res 11-4C Opcn your textbook to the “Mineral (i asslﬁcatnon Chart” on pages 8 and ()9
‘ ldcntnty cach mineral by wmm;, its letter and name on your answer sheet.
cp ) ) © The diagram below shows a rouk cycle. “In this chge, the scdimcnt‘;ry roak*(md'crgou‘s
02-Res 12-1C° " metamorphism and becomes metamorphic rek.  Using arrows and labels from the
: ‘ dmz,mm draw on yonranswcr sheet anothcr path for a sudlmentary rock in the Lyule -
v ) * ’ . b’.‘ [ ¢ "
SR .Coolingand ' N
v N . _ y . crystallization .
L Erosionl_ ‘ | i S | . .“\ A _'.
, R - ' Melting ’
. s . " Deposition A " . ‘ ‘
- - : _ : _ Metamorphic
. N o . : rock
, ‘Sediments ' .
) - . - . (
* »

- e " .

Burial and o :
rock formation

" » B Metamorphism®

Sedimentary rock




D . ,V'l -_._‘; e
L lé%« was the mountain shown in the diagram below formed? ‘ cP
2w : 02-Res 13-1€
o X [ ! .
" . g . .
e \
- -“
¢ \
o L '3
[ .
Ve
I 1
» e . ' '
. .
1)
' i ) : . . ¢ ¥ J .
. ; J ' - ! ‘ 1 . : i} ! . (;
. v : - - \
~ Look-at the diagram below carcfully. ’ . S N . ' cp
° - N 4 -’ ) - I ll o N - . ®
. .+ l.Isthe igneous rock an iptrusion” (intruded rock) or a flow? 02-Res 14-1C .
. . R o . '
2. How do you _know?
: . .
- /] e . . -
o § e . , e
KEY 5 . D . . .- ‘-";‘b o 0 £t s, ( ot [
N ® . A o : ’ - o ’ ‘ -
Symbol | Rock Type . .
. Ef scdimentary ] . oo -
.| typel |
=4 scdimentary ™
- | type-2 '
AN A WLN L N
72 M1| igneous .
[# 3 H metamorphic
"A .. A
v .W@ [ . .'
K . FIJ.RI l-l'rl l_ — | Y I ‘| . T \
.t . ~L T T 1T 1 1 Y — T T
s, Sh WD NS 1 ) S ¢ ) S - |
- B ¢ = e  « - o L 1 1 1
. Iy ’ LN
' . < » -
. : , |
R N ‘ & o~
: : - D
R4 9
8. b ’ -
*
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0 - CP T . B«)th of (hL igneous rocks xhown in thc djagrams below are mtrusnom
- 02-Res 15-1C . . . Wlmh is a sill? vy LT
' ‘ 2.AWImh is a dike? . ' I :

‘

3. Explain your angwers.

oo KeEY Diagram A. Diagram' B,
Symbol Rmk . e — ¥, '
Lo o ERE , ey e ) - N
m igneous | © v e-— — -
e 4 ” — [
- - )
shale N ' . .
e = ¢ 3.
- - — e g ——— e 4 Y
4 -
- [N i ”;/,
A\, — y
—~ .
A ~— - N !
— ] N
A _—r _/'-/
—_— — ]
© —
L — /Q e "’—"‘I
: v
s ’ ' !
K . S
CP . Volcanoes are not the only source of lava ow. Mmh of the lava I()uml in the
02-Res 16-1C northwester I}Umtul States flows onto the carth’s surface through long uauks What
e C 0+ dsthe name given to such cracks ih the carth’s surface?
T : _ T
- . T - e -
CP. - - - Copy the block diaggam below onto your answer sheet .
02-Res 17-1C- -. “. IV Label the fault line. “ :
' n 2. Usingarrows, show the' passible (Ilru,honx thc rocks could I‘mvc moved’
L e SRR : alom. the fault.
 J
L . ’ l v
3 . ... .
" . %
a . . .
» ° -
o o
- o~
1 -
L
[} 1]
- ' ' R ,
) ~ I v . -
.;‘ RN ‘ ‘
Y '
*’
£ ” .
Q ) . . '
ERIC - - -
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The block diagram below iflustrates rock strata that have been compressed into " CP
_folds. Select the letter of the arrow wlmh mdncatcs the direction of the apphed 02-Res 18-1C
force that caused the rocks tor fold -. b
oy o
[N " - 'v"l
° ) o A !
. ‘ . | .
The data below concern two different mountains from differént mountain. chains. B *+ CP
< 1. Which one do you think is older? - , C o ~ 02-Res 19-1C
2. Explain your answer. ) SR o :
CHARACTERISTICS MOUT:J_[A lWﬁIRL MOUNT SPIRAL CoT
mbllt of peaks I7 00() iw 8,000 feet ‘ o e
Stupncss of mountam very stup , gentle slopes ' e " ’
sides Ce I’ o — N .
Nature of valley ITTOwW o | bquzul‘.
Glacial ice can form from snow. Describe the process by which this habpcns. L CP -

»

' . 02-Res20-1C- ..
6‘ N . ’ ' e

-~

I

Ruth (llsagrcc(l waying that only some of those conditions would result in a clmngt
I
' in a glacier’s .Sl/.L.\ Which options would cause q',g,’mucr s size to change? - .

"

cvaporation ib the sumnier .
b. Snowfall in the winter which*tis thmllcd by the loss from melting and
evaporation in the summer - .

¢. Lighty inches of snowfall per ycar
d. Lighty-five inches of snowfall per year

¢. Snpwilall in the winter wlmh ewceeds the Ioss from melting and ¢vaporation

in the summer

“Dave suggested that cach of the following Lhm‘ltc conditions would always result ih cpP
:Lhangmg the size of a glacier. e ' 02-Res 21-1C-
a. Snowfall in the winter which is exceeded sby the loss lrom mcltmg and - * .

¢

"

& R -

A3
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(‘Study the list of locations below very carefully.

‘ a. The castern coastal plains _ ‘

b. The Kentucky mountains ”

¢. The Texas Gult Coast

d. The Great Salt Lake in Utah :
I. Which of them could be source arcas of river systems?
correct answers. _
2. What ar¢ the reasons for your choices? : ]

H

-

Choose all the

¢

-~ ep
03-Core-1C

- -

Get a blank map of Australia from your teacher, Study both the average precipi-

tation map and the clevation map shown below. ‘On the basis of these two maps.

where do you think river systems originate in Australia? Indicate your selections by
shading those large general arcas for cach location on your blank map..

. cp
+ 03-Core-2C

a
) \ :
g
) ’ ¢ \
Average precipitation in Australia .o E‘Ieva‘tion map of Australia .
N 4
> “ LS *

-KEY .
Symbol Precipitation F‘ . KEY'

flnem)  f ‘Symbol | Elevation
%5 ‘0-25 . ) (in m)
26-50 ' . ) R 11520-2440-

1 w ! - S

| “w100 ot 01141525
R | 101150 ' , | | 306-010
Bl o0 | o S )| 0305

# — .
¢ ' T

o

’

—



LP v - | -'Thc_(liag{ams below show the profiles of tlwce‘diffcr[entstreams. ' ¢ "*
3-Con:e-3C A 1. Select the profile of the stream with the greatest potential egergy.
' 2. State your reason for the choice. : '
. e . . - v -‘
* .
i
Profile a.
r
] - R .
.Sea level
, K
: 100 miles
< ?
Vo

.Profile b.

.Stream bed

.

(] -
: - ht i - ——
cp . Giet a supply and two cateh buckets and a 100-ml beaker from the supply arca. Set
03-Core-4C -~ a'flow of 10 ml/sec in a stream table without changing its slope. When you have .
: adjusted the equipment to «tllis rate, ask your teacher to check it
-/ : RN . .
/ | - .
s ' ‘» ]
' ) ) !
LE v

“-ve
!
<
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A stream table was used to determine how long it would take for 50 grams of a = ' CP -
sand-gravel mixture to be eroded.” Fhe slope of the table was varied, but the amount -, 03-Core-5C

of water used was the same for cach trial. Study the data table below cirefully.
State hoy you think the slopt of the stream table and the rate of crosion of the

stream trough are relatéd, - ¢ .
L ) . .
: HEIGHT OF STREAM TIME TO REMOVE 50 ¢. '
TABLE’S UPPER END OF A SAND-GRAVEL ..
. .
ABOVEATTS LOWER - MIXTURE (in sec)
¢ END®QCincrm) . T : .
. I'rial | Trial 2 ~
5 ' C2 20
. Q) | h) | h)
AL, [PUSSUINEI R - - .
, : ' . 13, 8 1 7
Study the stream profile shown below. . ' - cp
* 1. Seleet the letter showing where a gravel deposit niight forny. _ 03-Care-6C
20 Explain why it would form there. . .
AY : . .
N ’ I,
- L]
Stream
Loer gl |i(m '
a A . )
"'"lf’ A
: * c ’ Ka \\\\ Lath ~ Valley :
. LW ‘ ‘ - ::-:___:\‘_\ﬁ-— "'—“__::;;?
™ ' 4""a
< . b
! ' ~
— — — -
« Lixamine the following list of statements.  Each describes a change or an event that , CcpP
“could occur in some region of the United=States. Write the Letter of any of the 03-Core-7C
" chaniges listed below that would almost immediately increase a river’s kinetic energy., -~
a. Thundershowers : _ e
.1 . . . . . . .
- b, Springtime wirneup in the mountains

W

¢. Removal ol largd rocks rom the river bed
. Warm breezes blowing over the desert

ERIC
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CP - . The graph below shows the crosion rate.at a certain location on the St. James River
03-Core-8C - - - foroeneyear. What could be the major cause for the.ratc of croslomto vary as, shown

in thc graph?

-

q < .
. o 8 N ~ : .
J . ‘> T LT TTT 1T
< Ho N
. <2 [ ] ]
y’ o e TN ’ ; .
) Zu.l __'__'/’__ h ’Y - N o«
g [T y
Vowaw TR R L -. -
. ’ c o INRERNEE N
o+
Z9 JFMAMIJ JASOND i
C. MONTHS N )
T o . - ® o ‘ :
" ' "' ! : . . . L3 l "
« CP 1t you could vary thc LOII(IIIIOHS of a'strecam as you can a stream table in the labora- ,
03-Core-9C, tory, it would .change the effect of the water flow. Get a copy of the tollowmg ,

tablc (CP-03-Core-9C) from your teacher. (omplctc cach box of the table by writing
 + to show that the change increases the effect,  to show that it decreases the effect,
“and 0to show that it has no effdct.

CHANGE OR ) E POTENTIAL KINETIC EROQSION - ’i -
l)lH*‘HREN(‘l‘: 3 _ENERGY ENERGY RIATE S LR
Smoother bed i .

. ' Less water | B -

Lower the starting huz_,ht

Harder bed o
Steeper, stope j . :

feS

1

cp Which of the loilowmg features arc formed when a river’s kme(‘lc cmrgy has been -
03-Core-10C . reduced? Choose all the correct answers. : ~
a. Stream channels
b. Spits '
¢. Sandbars
d. Undercut banks ' P
’ ¢. Potholes




Different areas have different causes of crosion, depending on climate dnd geogrgnpl'iy.' - CcP .
Erosion is often caused by flowing water, wave action, glatiers, and wind, What is, 03-Core-11C
the chief cause of crosion at each of the four arcas numbcrcd bclow on the mdp of

the United Stdtcs’
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« [N
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1y . \ ‘ - .
i ‘ o 3 X
Look at the diagrams below of a river. ' . cpP
' ' s I - 03-Core-12C .
g~ ,

"Overhead view
For cach of the pair's of letters. ‘select the location where the river will flow faster..
Assume that all parts of the river have thc same slope. ' :
I. Location a or’b
2. Locationcord - _ \
* 3. Locationc or f . _ : o )
4. Locationg or h

\.“ ' .‘n . .



cp

03-Res 27-1C

.

RATE OF FLOW (in cm/sec)

_Grapﬁ-c.
10

RATE OF FLOW (in cm/sec)

«+

" Stream bank

section of the strcam shown above.
different rates? :
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Graph b.
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RATE OF FLOW (in cm/sec)

Graph d.
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‘Water flows at scvcfal. (,liffcrcﬁt rates at the different lettered points in the cross
Which of the graphs below best shows these
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The . diagram- below shows a ‘stream table setup. - Water will be allowed to flow at .
S ml/%m from the reservoir into the stream channel The level of water in the lake .

will be ‘kept constant. .

1. Select the maximum dcpth (q, r, s,t, or u) to wlmh the chdnnel will bé
cut.’

dcpth
.~ a. Channel depth is Lontrollcd by the level of thc lake.
b. Channel depth is controlled by-the bottom of th¢ stream table.
Y Channcl depth is controlled by the rate of flow.
‘ ‘d Chanhel dcpth is controlled by time. ;

Reservoir

Lei/pl of water in lake

PP

2. Sclut the letter of the statumnt bclow wlmh bxpl‘um why you close that

&r

. .cp
03-Res 29-1C

I

. Below is a diagram of a lengthwise section of the river in a delta.
l Did the river flow from L to M to N durmg the time of deposition?
2 E xplam your answer.

-

. CP
03-Res 32-1C

e
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cP - _ Study the diagram of the stream bed and its key below The arrow shows the gllrec- |

03-Res 33-1C . tion the water flows.
' ' I. Write tHe letter of any place where a witerfall could form

o 2. State the reason for your ch01ce '.C;_ . ‘.
U ) _' f: . B .‘
. b E R s N WA Y AR
+ _ Az
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. : ¥ +¢'x ¥/ /] / )
- Xty ¥« -
L) . . ‘**“p “'** ‘ f
" L2a ol TR R :A( V‘l‘—" ¢
Yy X[ e e Y
¥y « Vv -
. ¥ ~ >N -
Ado a1 :
a V7 M/ KEY
"AP'\JV'I - Symbol | Rock
2 Py vimbo
V" y oc

- o s '

mh basalt

e o

cP The map below shows the paths of several gullies. Copy this map Onto yg)'ur answ ;
03-Res 34-1C sheet or use the one provndcd by your teacher. - 7
C |.'Use an arrow labeled flow to show the dlrcctlon water will flow in onejof

- / ' the gullics. e ' E .
P 2. Use an arrow labeled growth to show the dnrectxon in whlch one o the

gullies will tend to-grow.
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The dmbram below shows the pdth of a tiver and’ thrw lettcred points dlong 1ts P CP‘
- course. Arrows mark the dll’ccthll the water flows. - . - . o 03 Res 36-1C
- ‘1. At which points is erosion likely.to occur? oy -, ' _
-3 At which points is deposition likely to ocqur? . | - ' .
3. State the reason for your choices. 3% o '
3 ' | . | | \-“" D
Lo . ) . - - .‘:
i .
|
: / _ A
' A
, | e
= . ! * : * .-“’ - . a v, - ) — s _ o
Unless the-river dries up, its stream bed will probably be changed by erogion. . T CP
[. Which of the four arcas indicated by letters is llkcly to be crodcd fll'bt’ +  03-Res 36:2C
2. Explain the reason for your answer, Do . )
. $
> 2,
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¥
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.
i
\
o ]




CP

03-Res 37-1C .

1

Thc fwtures on the map below are sand dunes .
1. What is the direction of the prevailing wmds in thig area"

2. How can you tell from the map? -
L4
3
. \
“ :
AN iy
N\
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Look carctully at the-two dlag,rams below.

.. T

* }. Select the letter of the dldt,l‘dm showmz, a beach wh}ch has been attackud

by high-effergy waves.

2. State the wndu\cé that xupports your amwcr

Diagram a..

cr .
04-Cgre-1C e

L

.’.’ ..
T

The diagram below shows a shoreline with a sand beach and the water level at low

tide. Supposc a hurrwanc hit the shoreline with high waves and winds for. ten. hours.
l Explain how the beach would be affected.

lmludu in_your explanation a diagram of the bcauh area dtlcr the hurri-

cane passgd through.

[
/ \ Solid rock *

\_;l' ,\'

CcP
04-Core-2C -

Study the three changes along a shoreline listed below. For cach change, state
whether it is evidence of high-cnergy wave action or low-§ nert,y wave aunon
1. Accuniulition of sand offshore, a beneh
2. Gravel and solid rock covered by sand

3.C Gravel and solid rock exposed where sand was once located,

cp - >
04-Core-3C . *

¢




cp - “J ' Dlagram A bel;fv show,s a stream table used for showing the proauctnon of waves in”
M-Coro-4A ) "_the formatlon ‘of"a sand beach. Dlagram B shows the same setup afte-r the waves -
o o "~ ceased. . -~ . .
L ‘. .- 1:How were these waves prodyced in the stream table" E
AR R 2 What is an 1mportdnt variable in the formatlon of the beach" ' e

v . v .,

)
. b
- .
.
"ﬂ A
- ’o"-‘..
o ..
L]
Y
L
,. Py
| Set. up a stream tahle‘ as shown bdow Scuxrc any additjonal cqummcnt you may B
N nLU(l L \\‘ l‘ o ..' " » B . .
. P \ . 1. Produce waves that 'will result in the produgtlon pt @ wml buuh Show :
A v YOur tcauhcr,,ho'w you do this: - X - S NS
A ’ ° : ° ) " - -
. : SR ,\tht nm ortant varn.lhlc is nwdcd to preduce.the mml aneh’ N
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Copy the diagram below, or. get a copy of it from your teachu Suppose waves - IR o -
erode sand at point A : ' 04-Core-6C
. 1. Shade in the place rqost of the sand is likely to be deposntcd : Co _
— '« 2.Show the pathof the-sand with arrows. . " R e T —
\ & " v ’ -® ¢ . | - '

Prevailing winds

Tracy Arm, which Iookx like a lake betwem two mountains, is a flord in Alaska. . - CP

. Sun Francisco Bay on the West Coast of the United States is an estuary. What is the 04-Core-7C
M dntfcrcnw between a fiord and. an cstuary? A e o

The (lld}_.,l'dm hdaw shows waves hitting a rocky Loz}stlmc e ' \ . o cP

“1."Where will croxnon of the rock face by these waves bg ‘greatest? o '04-Res 38-1C

3 //////// :
\ -_d ///// - S \

‘o a’ . . .. . %) [ [
. s m L T m
- R il
"j'-_,,o The Iollon;_, are tcaturcs that are formed along shorelines. c;clcu}lny features - ce
. which r¢ wmmonly as\socuhtcd wnth rocky or steeply inclined shorelines. 04-Res 38-2C
\ a. Spits. % . :
° . h. Benches '

\ c. Caves
) “d. Pinnacles
¢. Deltas

) N o

2 lxpl.un your answer.  w - I _ s
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Selecting the right wave at'the right position is impbrtdnt to surfers.

cp
04-Res 39-1C 1. Which lettered wave shown in the dnagram below would give a surfer the
- § best ride? :
0 _ 2. Explain why your- choice js best and why -you did not select the other
‘;’. ) . Wdaves. . “ - ’

v
cp ' ’ Study the three diagrams below of ocean waves approaching different shorelines.
04-Res 40-1C - 1. Write.the letter of any™tiagram which shows conditions for the bending
A of waves by refraction. . o _ _
e ‘ 2. Write the letter of any diagram which sholws conditions for the bending of
o L waves by dif(i)'{uction. . . ' e
o ' 3. Explain ygur answers to parts | and 2 ~
' o .
Diagram . : tre Diagram b, ‘Diagram c.
] \ §’\l‘
Shoreli.r_;_e
‘ « " AS .
0" . ”
. " N Lt
: : .
n - \ .
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l ; Copy the diagrams below, or-get copies of them froin your teacher, .Diagram' | shows — *~ I .CP
: wave fronts approaching a bay. Diagram 2lshows Wwave fronts approaching:a head- . . 04-Res 40-2C
land. Draw in more wave fronts on cach diagram 16 show’changes i the™shape of
the fronts that would occur as they move to the shore. ' 2 ' B
. . o . -
Diagram 1.._ . ) o Diagram 2.

e
. . g C ek . .
- Copy the diagrams below . or get copies of them from your teacher. Diagram | shows By cp
wave fronts approaching an opening between two barriers. Diagram 2 shows wave * 04-Res 40-3C

. fronts approaching a single barrier. Draw mor¢ wave fronts toward the land to show
any probable changes in their direction as they move shorewargd past _the barriers.
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cp

The graph below shows the tidal record at Kwajaleiu Atoll for 12 days'. :

04-Res 42-1C I. Estimate the mean sea level from this graph. (Estimate it; do not calculate -
it.) : RS ' . '
2. Which group of readings did you consider to estimate the mean sea level
.4ﬂ
3] /a
:’.5 -
27
w
= - N
1
ﬁ
~4 ~
— [
0 1 2 3 4 5 6 7.8 9 10 1 12
DAYS
' -
cp _ Which of the three diagrams below shows the relationship among the carth, the '
- 04-Res 43-1C moon, and the sun which would produce the highest tides in the ocean?
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Diagram a. - Diagram b, Diagram c.
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Look carefully at the coastline and the benches (steps) shown in the dlagmm below ' | - CP
1. What formed these benches? _ _ , 04-Res44-1C"
2. State why there are several benches. ’ . ~ N _
’ v

~ Present sea level

q.
L
Study thc‘vdiagram of the coastlme below. In time, the ocean current will erode the ' CP

- arca at X. ’ . 04-Res 46-1C

' N S'clcct the atrow which shows the path along which the resulting sand will '

be carried. .

2. What will the deposited sand form™
A :

A

. \\\\
Shoreline X




